
V-Twin Mfg.
MECHANICAL BRAKE CONTROL KIT

FITS 1936-1957 BT
VT No. 22-0706 Chrome

VT No. 22-0707 Parkerized
This is a custom application and rider safety depends on proper installation. This product should only be installed by a knowledgeable and trained 
motorcycle technician. V-Twin Mfg. accepts no responsibility for improper installation.

The Mechanical Brake replacement Kit is for use on 1936-1957 BT Models.  The kit is perfect for finishing a restoration or for forward controls on a custom rigid 
frame.  The kit is for use on mechanical brake frames with a cross shaft tube only.  The kit includes all hardware for installation.  The kit also allows the use of 
stock floorboards.

Parts List:
Item OEM # VT No. Parkerized VT No. Chrome Description Qty

1 42402-36 23-0456 23-0104 Brake Pedal 1

2 42480-36 23-0446 23-0105 Pedal Mount Plate 1

3 42560-37 23-0447 23-0426 RH Bell Crank (2 hole) 1

4 42556-36 23-0448 23-0427 LH Bell Crank 1

5 41929-36 23-0449 23-0428 Rear Brake Lever 1

6 42326-37 49-2551 23-0422 Front Brake Rod (short) 1

7 42257-36 23-0903 23-0902 Rear Brake Rod 1

8 42333-30 23-0443 23-0424 Short Clevis (2 used) 2

9 42273-30 23-0444 23-0425 Long Clevis 1

10 42550-31 23-0419 23-0419 Crossover Shaft 1

11 7863, 42575-30 9677-4 8409-4 Brake Shaft Nut & Lock Kit 2

12 42269-30, 6220, 510 23-0464 23-0421 (Zinc) Clevis Pin Kit (3 used) 3 

13 7831 200-024 In 23-0105 kit 7/16-20 x 1/4” Jam nut 1

14 7055 400-048 In 23-0105 kit 7/16 Lockwasher 1

15 6520 400-032 In 23-0105 Kit 7/16 Flat washer 1

16 7752 200-012 37-8113 5/16-24 Jam nut 3

17 6310 400-012 37-9273 5/16 Flat washer 1

18 528 600-009 37-8786 Cotter Pin 1

19 42427-26 13-0150 13-0173 Foot brake lever spring 1

20 7050 400-010 37-9056 3/8 Lockwasher 1

21 7789 200-006 37-0009 3/8-24 Nut 1


